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Risolvi le seguenti equivalenze.

20 ca = ................... a

0,8 ha = ................... a

1810 ca = ................... ha

58 ca = ................... a

0,3 ha = ................... a

91 ca = ................... a

2,1 a = ................... ha

5 ha = ................... a

1,6 a = ................... ha

10900 ca = ................... ha

28200 ca = ................... ha

1863 ca = ................... ha

172 a = ................... ha

0,98 a = ................... ca

27480 ca = ................... ha

2 ca = ................... a

37,83 ha = ................... a

0,3 ha = ................... a

6 ha = ................... a

271 ca = ................... a
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1,37 ha = ................... a

281 a = ................... ha

286 a = ................... ha

50 ca = ................... a

3,8 a = ................... ca

19,23 a = ................... ca

0,4615 a = ................... ca

4,089 ha = ................... a

156 ca = ................... ha

7 ha = ................... a
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Soluzioni

20 ca = 0,2 a

0,8 ha = 80 a

1810 ca = 0,181 ha

58 ca = 0,58 a

0,3 ha = 30 a

91 ca = 0,91 a

2,1 a = 0,021 ha

5 ha = 500 a

1,6 a = 0,016 ha

10900 ca = 1,09 ha

28200 ca = 2,82 ha

1863 ca = 0,1863 ha

172 a = 1,72 ha

0,98 a = 98 ca

27480 ca = 2,748 ha

2 ca = 0,02 a

37,83 ha = 3783 a

0,3 ha = 30 a

6 ha = 600 a

271 ca = 2,71 a

1,37 ha = 137 a
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281 a = 2,81 ha

286 a = 2,86 ha

50 ca = 0,5 a

3,8 a = 380 ca

19,23 a = 1923 ca

0,4615 a = 46,15 ca

4,089 ha = 408,9 a

156 ca = 0,0156 ha

7 ha = 700 a


